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Research Methodology

Section Id : 549470295
Section Number : 1
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Number of Questions : 59

Section Marks : 70

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947020951 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary stage of promoting the learning in a child is

Options :
Imitation
1. ¢
Instinct
Motivation
3 %
Conditioning
4, %

Question Number : 2 Question Id : 54947020952 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

A good teacher is one who

Options :
gives useful information
1. ®
gives notes to students
2. %
explains concepts and principles
3. %
inspires students to learn
4. ¢

Question Number : 3 Question Id : 54947020953 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The highest contribution of the sensory organ in effective learning belongs to

Options :

sense of touch

sense of hearing



sense of taste

sense of seeing
4. &

Question Number : 4 Question Id : 54947020954 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The classroom communication should essentially be

Options :
Abstract
1 ®
Empathetic
2.4
Non-descriptive
3. %
Contrived
4. %

Question Number : 5 Question Id : 54947020955 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the highest level of cognitive ability?

Options :

Knowing
1. ®

Understanding
2. %

Analyzing
3. %

Evaluating

4. v

Question Number : 6 Question Id : 54947020956 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is NOT a component of effective teaching.

Options :

Questioning to check for the understanding of students

Providing students with feedback
2. %



Being flexible about how long it takes to learn

Reactive mode of students” behavior
4.«

Question Number : 7 Question Id : 54947020957 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

SWAYAM refers to :

Options :
Study World of Action-Learning for Young Aspiring Minds
1. ®
Study Webs of Active-Learning for Young Aspiring Minds
2.¢
. Student World of Action-Learning for Young Ailing Minds
3.
Study Webs of Active-Learning for Youth Awareness Models
4.%

Question Number : 8 Question Id : 54947020958 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the main purpose of using ICT for class room teaching is
fo

Options :

Keep students engaged in the class

1%
Divert student’s attention in the class
2. %
Optimize learning outcomes of teaching
3.¢
Make the classroom instructions are interesting
4. %

Question Number : 9 Question Id : 54947020959 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

GUI stands for

Options :

Graphical User Interference

Graphical User Interface
2.



Graphical User Identifier

Gaming User Identifier

Question Number : 10 Question Id : 54947020960 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following be the true evaluation of the students if possible?

Options :

Formative
1. %

Evaluation at the end of the course
2. %

Evaluation twice in a year
3 %

Continuous evaluation

4.

Question Number : 11 Question Id : 54947020961 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Teaching in Higher education implies

Options :
Presenting the information given in the text book
1 ®
Asking questions in the class and conducting examinations
2. %
Helping students to prepare and pass the examinations
3. %

Helping students to learn
4. ¢

Question Number : 12 Question Id : 54947020962 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary task of a teacher is
Options :

To teach the prescribed curriculum

To stimulate and guide students learning
2. ¥



To provide diagnostic and remedial is aid wherever desired

To promote habits of conformity to adult demands and expectations

Question Number : 13 Question Id : 54947020963 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the aims of scientific method in research 1s to

Options :

Improve data interpretation
1 ®

Eliminate spurious relations
2.¢

Introduce new variable
3. %

Conform triangulation
4. %

Question Number : 14 Question Id : 54947020964 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is NOT a characteristic of research?

Options :

Research is symmetric
1 ®

Research is not a process

2.¢

Research is not passive
3. %

Research is problem oriented
4. %
Is Section Default? : null

Question Id : 54947020965 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Intelligence is associated with academic achievement by most people. The various
theories of intelligence created by psychologists hold that there are two kinds of academic
intelligence-verbal and mathematical or logical. Intelligence is an inherited trait that impacts
individual behavior and performance according to most experts. But, many research studies have
revealed that the environment greatly impacts the development of intelligence. Since. one
property of intelligence i1s analytical and reasoning skills. people with high intelligence quotient
will understand the problem at hand better than people with a low IQ. Many organizations
consider intelligence as an important criterion while recruiting. For instance in many
management schools, a lot of weightage is given to high IQ while admitting students or
recruiting faculty members. The qualities of intelligent people are high energy drive.
achievement and competitiveness. Very intelligent employees learn job — related skills and other
organizational practices quickly and organizations have to spend less time training them. People
with high imtelligence have good decision making ability due to their good analytical and
reasoning skills. With a high achievement drive, they are mostly very productive. As the saying
goes, ‘A wise enemy is better than a foolish’ friend:

Even with such a high IQ, very intelligent people may not always be very happy. The
high IQ makes them dysfunctional leading to anxiety and depression. Generally speaking, people
with high intelligence quotient are often dissatisfied people.

Sub questions

Question Number : 15 Question Id : 54947020966 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the two kinds of academic intelligence defined by psychologists?

Options :

Mathematical and logical
1 ®

Logical and psychological
2. %

Verbal and logical
3.¢

Mathematical and social
4. %

Question Number : 16 Question Id : 54947020967 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the possible ill effects associated with high IQ people?
Options :

Mania and hallucination

Depression and hallucination



Bipolar disease

Anxiety and depression

Question Number : 17 Question Id : 54947020968 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a student stands first in the class, the general credit is given to:

Options :

Contacts
1. %

Intelligence
2.9

Hard work
3 %

Attractive features

4, %

Question Number : 18 Question Id : 54947020969 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Dissatisfaction is often witnessed in people with

Options :

Creative skills
1, *

High expectations
2. %

Good decision—making ability
3.¢¥

High education qualifications
4, %

Question Number : 19 Question Id : 54947020970 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

High energy drive, achievements and competitiveness are valued during

Options :

Admission
1. %

Recruitment
2. %

Promotion



Admission and recruitment

Question Number : 20 Question Id : 54947020971 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Those who understand a problem in a short span of time will be people with

Options :
High IQ
1. ¢
- Low IQ
Average IQ
3%
Good IQ
4. %

Question Number : 21 Question Id : 54947020972 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Another word for “Weightage’ is

Options :



Credit

1. ¥

Mass
2. %

Weight
3. #

Freedom

4. %
Is Section Default? : null

Question Number : 22 Question Id : 54947020973 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Synopsis of a research is

Options :

Summary of research

Blueprint of a research
2.¥

Extract of research



A plan of research
4.%

Question Number : 23 Question Id : 54947020974 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following objectives is not associated with teaching aids?

Options :
To present difficult concepts in simpler manner for students
1. ®
To make the students comparatively more active and dynamic
2. %
To make advertisements of attractive and miraculous events to students
3.
To determine the audio-visual aids by keeping mind individual differences in
the class
4. %

Question Number : 24 Question Id : 54947020975 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The first step of research is

Options :

selecting a problem
1. ®

searching a problem
2. %

finding a problem
3.

identifying a problem

4. %

Question Number : 25 Question Id : 54947020976 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is not a method of data collection?
Options :

Interviews

Observations



Questionaries

Experiments
4.9

Question Number : 26 Question Id : 54947020977 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A researcher conducted three experiments with 100 subjects each following uniform
design instead of one experiment with 300 subjects. This is known as

Options :

Validation
1.¢

Manipulation
2. %

Observation
3. %

Replication
4, %

Question Number : 27 Question Id : 54947020978 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The conceptual framework in which a research is conducted is called a

Options :

Synopsis of research
1. %

Research design
2.¢

Research hypothesis
3. %

Research Paradigm
4.%

Question Number : 28 Question Id : 54947020979 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is an identification of the quality of a research journal?
Options :

Impact Factor
1.v

h — index



g — index

110 — index

Question Number : 29 Question Id : 54947020980 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ethics in research 1s not related to

Options :
Scientific method
], %
Reliability
2. %
Self-interest
3.
Humanity
4. %

Question Number : 30 Question Id : 54947020981 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The objective of a research work can be written .

Options :
only in question form
1. %
only in statement form
2.¢
both question and standard form
3. %
in hypothetical form
4. %

Question Number : 31 Question Id : 54947020982 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Complete the series: 3C4. 7G5, 1216, 18R7, 25Y8,

Options :

32F9

3G9

Lad



32G9

Lad
Lad
o)
-1

Question Number : 32 Question Id : 54947020983 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a certain code language, if CHECK = 30 and TIME = 47 then what is the code for
HOCKEY?

Options :

52
1. %

67
2.9

48
3. %

12
4, ®

Question Number : 33 Question Id : 54947020984 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The ratio of the present ages of A and B is 5:6. Fifteen years ago. the ratio of their ages
was 7:9. Find the present age of A.

Options :

10
1. %

30
2. %

50

3.¢

65
4, #®

Question Number : 34 Question Id : 54947020985 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A shopkeeper losses 15% if an article is sold for Rs.102. What should be the selling
price of the article to gain 20%?
Options :

150

1. ®



144

2.9

138
3. %

132
4. %

Question Number : 35 Question Id : 54947020986 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a class, the average age of the students is 21 years. If their class teacher, aged 45
vears is also included, the average of the class would be 22 years. Find the number of
students in the class.

Options :
20
1. ®
23
2. ¢
24



-2
Lh

Question Number : 36 Question Id : 54947020987 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What sum of money amounts to 5800 in three years at 15% per annum with simple
interest?

Options :

3800
1. %

4000
2.9

4200
3. %

4600
4, %

Question Number : 37 Question Id : 54947020988 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Starting from his house, Krishna travels a distance of 8m towards North, he then turns
left and travels a distance of 6m, then travels 5m South and finally he travels 6m
towards the West to reach his office. What 1s the approximate distance between his
house and the office?

Options :
14m
1. %
12m
2. %
12.5m
3. ¢
14.5m
4, %

Question Number : 38 Question Id : 54947020989 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A person can cover a certain distance in 8 hours at a speed of 50 kmph. At what speed
he must travel to cover the distance in 5 hours?

Options :



400 kmph

1. %

80 kmph
2. ¥

100 kmph
3. %

300 kmph
4.%

Question Number : 39 Question Id : 54947020990 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following groups of fraction are in ascending order?

Options :
8 57
% 11 8§ 10
7 5 8
108711



3.¢
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Question Number : 40 Question Id : 54947020991 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements are mutually inconsistent?
Mostly poets are not egoistic

L
I1. Mostly poets are humble
I11. Some poets are egoistic
IV. Some poets are not non-egoistic
Options :
ILand IV
1. *
IT and 11T
2. %
I and IIT

3.¢



III and IV

Question Number : 41 Question Id : 54947020992 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Some teachers are not sincere” is an example for which category of proposition?

Options :

Particular affirmative

Particular negative

2.

Universal affirmative
3 %

Universal negative
4, %

Question Number : 42 Question Id : 54947020993 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements — one is labelled as Assertion (A) and the other is
labelled as Reason (R)

Assertion (A): Skill development is a key feature in every individual’s life.

Reason (R): An individual. who wants to get employed. needs to possess good
education only.

In this context of above two statements choose the correct option codes:

Options :

(A) 1s true, but (R) is false

1.
(A) 1s false. but (R) is true
2. %
Both (A) and (R) are true and (R) is the correct explanation of (A)
3. %
Both (A) and (R) are true and (R) is not the correct explanation of (A)
4, %
Is Section Default? : null

Question Id : 54947020994 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
From the data furnished in the following table, answer the questions 43-45. Area under
different crops over the years 2016-20 is in lakh hectares.

Year Mango Vegetables Flowers Total crop area
2016 53 72 1 187
2017 56 75 1 194
2018 58 78 2 202
2019 61 79 2 207
2020 63 79 2 209

Sub questions

Question Number : 43 Question Id : 54947020995 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following two years have registered the highest rate increase in total crop
area?

Options :

2017 and 2018

2016 and 2017



2017 and 2019

2018 and 2019

Question Number : 44 Question Id : 54947020996 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following has recorded the highest rate of increase in crop area during
2016 to 20207

Options :

Mango

Vegetables

2. %

Flowers
3. %

None of these
4, %

Question Number : 45 Question Id : 54947020997 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year, area under mango has recorded the highest rate of growth?

Options :
2019
1. #
2017
2.9
2016
3. %
2018
4. ®
Is Section Default? : null

Question Id : 54947020998 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following pie chart carefully and answer the questions 46-49. It gives data on
number of students having specializations in different study branches.

Marketing
22%n

Sub questions

Question Number : 46 Question Id : 54947020999 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the total number of students having specialization in HR. Marketing and IT?

Options :

4640



4080

2. %

4400
3.¢

4260
4, %

Question Number : 47 Question Id : 54947021000 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the total number of students having IB as specialization?

Options :

1520
1.v

1280
2. %

1120
3. %

1360



Question Number : 48 Question Id : 54947021001 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio of the students having Finance as specialization to students having HR
as specialization?

Options :

11:9
1. %

4.7
2. %

18:13
3. %

6:7
4. &

Question Number : 49 Question Id : 54947021002 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Students having IR as specialization forms approximately what percent of students
having HR specialization?

Options :

114
1. ¢



106

2. ®
76
3. %
87
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947021003 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the statement “most of the students are obedient’ 1s taken to be true, which one of the
following pair of statements can be claimed to be true?

A) All obedient persons are students

B) All students are obedient

C) Some students are obedient

D) Some students are not disobedient
Choose the correct codes from the options given below:

Options :

Aand B



B and C

2. %

Cand D
3.¢

Band D
4, %

Question Number : 51 Question Id : 54947021004 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two statements I and II followed by two conclusions (A) and (B).
Suppose if the statements are true, which of the following conclusions can logically
follow?
Statements:

I: Some flowers are red

II: Some flowers are blue
Conclusions:

A: Some flowers are neither red nor blue

B: Some flowers are both red and blue

Options :

only (A) follows



only (B) follows

2. %

both (A) and (B) follows
3. %

Neither (A) nor (B) follows
4.

Question Number : 52 Question Id : 54947021005 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At selling price of Rs 240, a person incurred a loss of 10%. To earn a profit of 10%,
what should be the selling price?

Options :
Rs 310
1. %
Rs 300
2. ®
Rs 285.50



Rs 293 .33
4.

Question Number : 53 Question Id : 54947021006 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Every woman is white and ‘not every woman is white’ comes under which domain
source of opposition

Options :

Contradictory
1.¢

Contrary
2. %

Sub-contrary
3. %

Sub alternation
4. %

Question Number : 54 Question Id : 54947021007 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mercury and leads are poisonous substances that contribute to




Options :

Noise exposure

1. %
Poor air quality
2. %
Water contamination
3. %
Skill pollution
4.

Question Number : 55 Question Id : 54947021008 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the binary equivalent of decimal number 48 is 110000, then the binary equivalent of
decimal number 51 is given by

Options :

110010

11011



110001

110100

Question Number : 56 Question Id : 54947021009 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents one billion characters?

Options :

Kilobyte
1. ®

Megabyte
2. %

Gigabyte
3.¢

Terabyte
4. %

Question Number : 57 Question Id : 54947021010 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Python is :

Options :
an operating system
1. ®
an application program
2. %
a compiler
3. %
a programming language
4.9

Question Number : 58 Question Id : 54947021011 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A description in conununication process is called

Options :

Interaction

Noise
2. %



Transgression

Feedback

Question Number : 59 Question Id : 54947021012 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an example of asynchronous medium?

Options :
Radio
1. ®
Film
2.8
Newspaper
3.9
Television
4. %

Question Number : 60 Question Id : 54947021013 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following are priority areas in relation to the sustainable development
goals?

A) No poverty

B) Zero hunger

C) Reducing Urbanization

D) Peace, Justice and Strong institutions

Choose the correct answer from the options given below:

Options :

A, B,C
1. ®

AL D
2. ®

B, C.D
3. %

A, B. D
4.

Question Number : 61 Question Id : 54947021014 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the largest soil group in India?



Options :

Red soil
1. %
Black soil
2. %
Sandy soil
3.
Mountain soil
4, %

Question Number : 62 Question Id : 54947021015 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a waterborne disease?
Options :

Typhoid

Hepatitis



Cholera

Dengue
4.

Question Number : 63 Question Id : 54947021016 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the clinical trial in which blood is transferred from recovered COVID-19 patients
to Corona virus patients who is in critical condition.

Options :
Hydroxychloroquine
1 ®
Soidarity
2. %
Remdesivir
3. %
Plasma therapy
4.9

Question Number : 64 Question Id : 54947021017 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first case of noval coronavirus was identified in

Options :

Beijing
1. *

Wuhan
2.¢

Tianjin
3. %

Shanghai
4.%

Question Number : 65 Question Id : 54947021018 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following sources of energy has maximum potential in India?
Options :

Solar energy
1. ¢



Wind energy

2. %

Tidal energy
3. %

Ocean thermal energy
4. %

Question Number : 66 Question Id : 54947021019 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is regarded as an immediate need of an educational
organization?

Options :

To ensure self-employment capabilities in the students
1.¢

To enrich the knowledge of future generation
2. %

To focus on Employment opportunities



To make provision of maximum service opportunities

Question Number : 67 Question Id : 54947021020 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The scheme “Unnat Bharat Abhiyan™ aims to

Options :
Increase number of colleges in India
1. %
Increase quality in Higher education
2. %
Link higher educational institutions in the country with at least five villages
3.
Increase strength of students in colleges in India
4.%

Question Number : 68 Question Id : 54947021021 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following are the goals of Higher education in India?
A) Access

B) Equity

C) Quality and Excellence

D) Relevance

E) Value based education

F) Compulsory and free education

Select the correct answer from the code given below:

Options :

A B EandF

ABC DandFE

2.9

ABCDEandF
3, %

A BandE
4, %

Question Number : 69 Question Id : 54947021022 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following 1s NOT a constitutional body?

Options :
NITI Aayog
1. v
Election comimission
2. %
Finance commission
3 %
Union Public Service Commission
4. %

Question Number : 70 Question Id : 54947021023 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is ABC as per NEP-2020?
Options :

Academic Bank of Credit
1. ¢



Academic Basic Certificate

2. %

Annual Basic Certificate
3. %

Annual Bank of Credit
4, #

Anthropology

Section Id : 549470296
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 70
Section Marks : 70
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 71 Question Id : 54947021024 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who i1s the father of the “Indian Ethnography’?

Options :

S C Roy
1.



D N Majumdar

S C Dubey

3. %

N K Bose
4. %

Question Number : 72 Question Id : 54947021025 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A statistical technique showing the relationship between two variables 1s

Options :

Regression
1. ®

Correlation

Standard Deviation
3 %

Standard Error

Question Number : 73 Question Id : 54947021026 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The most widely used method in cross-cultural research is:
Options :

Experiment

Survey

3 % Observation

Case study

Question Number : 74 Question Id : 54947021027 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who coined the term ‘Action Anthropology’?
Options :

Erve Chambers
1. %

Sol Tax
2.9

John Van Willigen



George M Foster

Question Number : 75 Question Id : 54947021028 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

With whose name. method of Genealogy is closely associated?

Options :
W H R Rivers
1.

Edward B Tylor

2. %

Lewis Henry Morgan
3. %

Ely Parker
4. %

Question Number : 76 Question Id : 54947021029 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The main difference between a questionnaire and a schedule is
Options :

Format of Questions
], %



Physical form

Mode of Operation
3.¢

Language

Question Number : 77 Question Id : 54947021030 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Australopithecus bahrelghazali was discovered by
Options :

Michel Brunet
1. ¥

Meave Leakey

Louis Leaky

~ Mary Leaky
4.%

Question Number : 78 Question Id : 54947021031 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Who wrote the book entitled “Philosophic Zoologique™?
Options :
Jean Baptiste de Lamarck
1.¢

Alfred Russel Walace

2. %

Charles Darwin

S John Herschel

Question Number : 79 Question Id : 54947021032 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following studied the social behavior of Howler Monkeys?
Options :

) Sherwood Washburn
1.

C R Carpenter
2.¢

Dian Fossey



Irvin DeVore

Question Number : 80 Question Id : 54947021033 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Parapithecus was the Primate of
Options :

Paleocene

Eocene

Oligocene
3.« “

Miocene

Question Number : 81 Question Id : 54947021034 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following is a Neo Darwinian?

Options :
Wallace



Buffon

Tower

Dobzhansky
4. &

Question Number : 82 Question Id : 54947021035 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Darwin theory was unable to explain
Options :

Natural selection
] ®

Struggle for existence
2. %

Survival of fittest

Variation

Question Number : 83 Question Id : 54947021036 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lemurs are found in



Options :

| » India

Madagascar
2.

, » Indonesia

Brazil
4, %

Question Number : 84 Question Id : 54947021037 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term ‘Polymorphism’ was coined by
Options :

Muller

Halden
3 Ford

De Vries

4,

Question Number : 85 Question Id : 54947021038 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bermnstein’s Correction 1s used for the calculation of

Options :

A BO Blood Group Allele Frequency
1. ¢

Rh Blood Group Allele Frequency

2. ®

MN Blood Group Allele Frequency

3. %

Colour Blindness Allele Frequency
4. %

Question Number : 86 Question Id : 54947021039 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who classified humans’ viz., Geographical, Local and Microraces?

Options :

Stanley Garn
1.v

Carleton Coon
2. %

Frank Livingstone



Blumenbach

Question Number : 87 Question Id : 54947021040 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The human Mitochondrial genome contains

Options :

40 genes
1. ®

37 genes

35 genes

32 genes

Question Number : 88 Question Id : 54947021041 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sex linked inheritance is due to genes present on
Options :

Y Chromosome
1. %



‘X’ Chromosome

Autosome

Both ‘X and Y’ Chromosome
4.«

Question Number : 89 Question Id : 54947021042 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the Sex limited trait of the following
Options :

Colour Blindness

G6PD Deficiency

Sickle Cell Anemia

Beard Development
4. ¢

Question Number : 90 Question Id : 54947021043 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which trait of the following is controlled by multiple alleles
Options :

| » Colour Blindness

Phenylketonuria

Blood Groups
3.¢

Sickle Cell Anemia

4, %

Question Number : 91 Question Id : 54947021044 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lyon Hypothesis explains about
Options :

Sex determination

Harmonal control of Sex

Environmental control of Sex
3 %



Dosage compensation
4. &

Question Number : 92 Question Id : 54947021045 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A population change in a biological characteristic (Height) that occurs over a
period of time, often over generations is known as
Options :
Secular trend

1. ¢

Stunting
2. %

Wasting
3. %

Growth spurt
4. %

Question Number : 93 Question Id : 54947021046 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Biological Anthropologists who study Growth are called

Options :

Human Biologists
1. ®



Forensic Anthropologists

2. %

Auxologists
3.¢

Medical Anthropologists
4.

Question Number : 94 Question Id : 54947021047 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who wrote the book “Worldwide Variation in Human Growth’?
Options :

Tanner ] M

1. ®

Malcolm L

2. 8

Eveleth P B and J M Tanner
3.¢

Garn Stanley M



Question Number : 95 Question Id : 54947021048 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Study carried out during a Single Time period is known as

Options :
Cross-sectional
1. ¢

Semi-longitudinal
2. %

Mixed-longitudinal
3. %

Longitudinal
4, %

Question Number : 96 Question Id : 54947021049 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A period of accelerated growth that ensures after ‘growth disruption’ is known as

Options :
Pre natal growth
1. ®

Adolescent growth spurt
2. %



Catch-up growth
3.

Post natal growth
4. %

Question Number : 97 Question Id : 54947021050 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The study of Non-literate ancient societies is known as
Options :
Pre historic Archaeology

1. ¢

Text aided Archaeology

Historical Archaeology
3. %

Experimental Archaeology
4, %

Question Number : 98 Question Id : 54947021051 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which method is used for Dating of Pottery?



Options :

Dendro chronology

Lithography

Fission track

Thermo Inminescence
4.

Question Number : 99 Question Id : 54947021052 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A condition of low oxygen availability is known as
Options :

Infection
1. %

Anemia

Hypoxia
3.



Homeostasis

Question Number : 100 Question Id : 54947021053 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The study of living societies to aid in the interpretation of ancient ones is known as
Options :

Experimental Archaeology

Ethno Archaeology
2. ¢

Environmental Archaeology
3. %

Geoarchaeology
4. %

Question Number : 101 Question Id : 54947021054 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who coined the term Neolithic?

Options :

John Lubbock
1.«



Robert Bruce Foot

2. %

Piggot
3 %

Boucher de Perths
4, ®

Question Number : 102 Question Id : 54947021055 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Natufian culture 1s a

Options :

Paleolithic culture

Mesolithic culture

Chalcolithic culture

Neolithic culture

Question Number : 103 Question Id : 54947021056 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
The first pluvial is known as

Options :

Gamblian

Kageran
2.

Kanjeran

Kamasian

Question Number : 104 Question Id : 54947021057 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mousterian tool tradition i1s found in

Options :

Pithrocantropus
1. ®

Ramapithecus

Cro-Magnon
3. %



Neanderthal

Question Number : 105 Question Id : 54947021058 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author of the book ‘The Old Stone Age’

Options :

M C Burkitt
1.+

Dharani Sen

H D Sankalia

B Subba Rao

Question Number : 106 Question Id : 54947021059 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a Neolithic site in South-West Asia
Options :

L v Jericho



Nattuffian

2. %
Kitchen midden
3 %
Oldavai Gorge
4, ®

Question Number : 107 Question Id : 54947021060 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who proposed three age system in Prehistory?

Options :
Alchin FR
1. %
Bmford L R
2. %
~ F Bords
3%

C J Thomson

Question Number : 108 Question Id : 54947021061 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Yale Cambridge expedition of Soan Valley was led by
Options :

- De Terra and Paterson

B B Lal
2. %

H D Sankalia

3. %

R B Foot

4. %

Question Number : 109 Question Id : 54947021062 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is the father of Indian Pre-history?

Options :

H D Sankalia

Robert Bruce Foot
2. ¢

V N Misra

3. %



M C Burkitt

Question Number : 110 Question Id : 54947021063 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The book “Pre History and Proto History of India and Pakistan’ is written by

Options :

D K Bhattacharya
1 ®
. V Rami Reddy

H D Sankalia

M L K Murthy
4, %

Question Number : 111 Question Id : 54947021064 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Celt 1s found in
Options :

. Mesolithic culture
1.



Neolithic culture

Chalcolithic culture

Paleolithic culture

Question Number : 112 Question Id : 54947021065 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who proposed the concept of “little and great’ traditions?
Options :

G P Murdack

Robert Redfield

Hoebel E Adamson

Ruth Benedict

Question Number : 113 Question Id : 54947021066 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The practice of Visiting Husbands was present among

Options :

The Naws
1. v

The Kotas
2. %

The Thods

The Kadars

4. %

Question Number : 114 Question Id : 54947021067 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Married couple living with or near the wife’s parents is known as
Options :

Patrilocal residence
1. %

Uzxorilocal residence
2.%

Virilocal residence
3 %



Avunculocal residence

Question Number : 115 Question Id : 54947021068 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Grinding and Polished technique was used during

Options :

Lower Mesolithic period

Upper Paleolithic period

Mesolithic period

Neolithic period
4.9

Question Number : 116 Question Id : 54947021069 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The process by which an individual acquires knowledge of his cultural group is

Options :

Enculturation
1.«



Ethnocentrism

Cultural Relativism

Evolutionisin

Question Number : 117 Question Id : 54947021070 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Culture was defined as the ‘Man Made Part of the Environment” by

Options :
Tylor
1. %
Kroeber
2. %
Herskovits
Franz Bas
4, %

Question Number : 118 Question Id : 54947021071 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



When two cultures come in a first hand direct contact, the process is termed as

Options :

Acculturation
1. v

Accommodation
2. %

Assimilation

Universalization

Question Number : 119 Question Id : 54947021072 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Society without central authority is known as

Options :
Powerless society

Leaderless society

Government less society
3. %



Stateless society
4. &

Question Number : 120 Question Id : 54947021073 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the social functions of religion is
Options :

Mental peace

1. %
Social control
2. ¢
Individual freedom
3. %
Blind faith
4, %

Question Number : 121 Question Id : 54947021074 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cognitive Anthropology is known as

Options :



Ethnology

Ethno science

Ethnography

Visual Anthropology

Question Number : 122 Question Id : 54947021075 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a women address or refers to her husband by adding through the name of her
son, the practice is called

Options :

Couvade
1. %

Avunculate
2. %

Teknonymy

3. ¢



Amitate

Question Number : 123 Question Id : 54947021076 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following concept is attributed to Sir James Frazer?

Options :

Cultural area

Sympathetic magic

Cultural Pattern

Cultural relativism

Question Number : 124 Question Id : 54947021077 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of cultural relativism was proposed by

Options :



Franz Boas

1. v

Lewis Morgan
2. %

B Melinowski
3 %

Edmond Leach
4, %

Question Number : 125 Question Id : 54947021078 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The idea of cultural materialism 1is closely associated with
Options :

Marvin Harris
1. v

Gilbert Herdt
2. %

Mary Douglas



Edward Tylor

Question Number : 126 Question Id : 54947021079 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Super Organic in Anthropology 1s associated with
Options :

| » Leslie White

Franz Boas

2. %
Krober
3.«
Marvin Hairis
4, %

Question Number : 127 Question Id : 54947021080 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Allorese society was studied by
Options :

Cora Dubois
1.¥



Ruth Benedict

2.
Margret Meid
3 %
Turner Victor
4, %

Question Number : 128 Question Id : 54947021081 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who wrote the book entitled * The Interpretation of Cultures”?
Options :

Mary Douglas

1. ®

Clifford Geertz
2.

Evans Prichard

Marcel Mauss



Question Number : 129 Question Id : 54947021082 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the cultures discussed by Ruth Bendeict in her book ‘Patterns of Culture’?

Options :

Zuni. Greek and Dobu

1. %

Zuni. Omaha and Dobu
2. %

Kwakiutl, Dobu and Hopi
3. %

Zuni. Dobu and Kwakiutl
4. &

Question Number : 130 Question Id : 54947021083 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sacred complex of Gaya was studied by
Options :

B N Saraswati

L P Vidyarthi
2. ¢



Makhan Jha

L K Mahapatra

Question Number : 131 Question Id : 54947021084 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of Universalization and Parachilization was proposed by

Options :

M N Srmivas

S C Dubey

Mckim Marriot

[ K Srinivas
4, %

Question Number : 132 Question Id : 54947021085 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The Mandal Commission was constituted under which Article of the Indian
Constitution

Options :

Article 340

1. v

Article 275
2. ®

Article 164
3.

Article 330
4, %

Question Number : 133 Question Id : 54947021086 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term “Scheduled Tribe’ was mserted in the Indian Constitution vide

Options :

Article 342
1. ¢

Article 244



Article 274

Question Number : 134 Question Id : 54947021087 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who recommended three tier Panchayat System in India?

Options :

Balwant Rai Mehta

1. ¢
Ashok Mehta
2. %
Mandal
3, %
Dhebar
4, %

Question Number : 135 Question Id : 54947021088 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one is associated with Kinanthropometry?



Options :

William Ross
1.

J M Tanner
2. ®

Daniel E Brown
3, %

Campbell
4, %

Question Number : 136 Question Id : 54947021089 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who is the proponent of the concept of Culture of Poverty in Urban Anthropology?

Options :

Sol Tax

Oscar Lewis
2.%

John H Bodley



_ Carol R Ember
4, %

Question Number : 137 Question Id : 54947021090 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The study of different aspects of ageing is known as
Options :

Geriatrics

Gerontology
2.¢

Demography
3. %

Population study
4.%

Question Number : 138 Question Id : 54947021091 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The best character of personal identification

Options :

Finger prints
1. ¢



Facial biometric

2. %

Height
3.

Dentition
4.

Question Number : 139 Question Id : 54947021092 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which branch of Anthropology aimed at improving people’s lives, particularly in
poverty alleviation?

Options :

Corporate Anthropology
1, *

Environmental Anthropology
2. %

Developmental Anthropology
3.¢

Communication Anthropology



Question Number : 140 Question Id : 54947021093 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The study of the meaning of words, Phrases and Sentences in Cultural context is
called

Options :

Ethnosemantics
1. ¢

Ethnology
2. %

Ethnography
3. %

Enthno Science
4, ®



